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Shows the value 110 or 220

or

Shows or implies a complete correct method

with not more than one computational error

360 2% (180 - 35 x 2)
360 — (360 — 4 x 35)
70x2

35 + 35 = 80 (error), 180 - 80 = 100
60 — 100 x 2 = 160
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Triangles

i 8 Queston
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[20]13[ Correct response Additional guidance
alala| [tm| Gives the values 60,60 and 60 + Single answer of 60 given

blbfb| |1m

Gives the values 90, 45 and 45, in any order
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Three angles

Indicates No and gives a correct explanation

e 244934 61 = 178 but e should equal 180
for a straight line
% 24493+ 61 is 2 degrees too small for a
straight line
® 443412850 they couldnt add t0 180

Additional guidance

 Minimally acceptable explanation that
states or implics the angles should add to
180 or that they add to less than 180
o«
« The angles don't make 180
+ They should add to 180
« Too small by 2
« The total ends in 8, but this should be 0
« It totals 178°, so it would be an obtuse

angle

* Incomplete or incorrect explanation
e«
+ 24.4.93 + 61 = 178 which is not straight
+ The angles add to 188 not 180
« The angles add to 178" o it will look
straight
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@
= Angle a s on a straight line with 130,
s0a=180-130
 ais supplementary with 130, s0
a+130= 180
 The angle vertcally opposite 130 is 130,
360~ (130 + 130) = 100, (angles at a poine)

ais 190 2 50 alo vericall opposice)

Gives b = 60 and gives a correct reason

®

= Angle bis vertically opposite the 60° angle,
5o itis also 60°

= The angle on a straght line with b is 120, s0
bis 360120 - 120 - 60 (angles at a point)

¥ Minimally acceptable reason
. On 4 uraght e

+ Supplementary
+ Opposite angles and angles at a point

x Informal reason without the correct
‘geometrical property identified
. 150-130

. 360-260
3

x Incomplete reason
%, i adiacnt o the 120°ange

+ Angles on a straght line and
angles at a point

o
+ bis equal to the 60° angle next to it

x Incomplete reason
8
+ Itis the same as the 60° angle
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Three straight lines (cont)

B
[20]12] Correct response. Additional guidance
1m [ Gives ¢ = 70 and gives a correct reason  Minimally acceptable reason
o e
= There are 180° in a riangle, + Angles in a triangle

50 180~ 50 60

a The exterior angle of a triangle s equal t
the sum of the two opposite interior angles,
s0c=130-60

+ Exterior angle = sum of two opposite
interior angles

+ We've already got 50 and 60 in the
triangle

t Follow through
Accept as 180 - (their a + b), alongside a
correct reason referring (o angles in a
criangle, or as 130 ~ their b alongside a
correct reason referring (0 an exterior
angle of a triangle

_Informal reason without the correct
‘seometrical property identified
CY
180~ (asb)
+130-5

x Incomplete reason
@
+ Itis in a triangle
+ All the inside angles add up o 180"
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Triangles

Correct response

Additional guidance

1m| Gives the values 60, 60 and 60

¥ Single answer of 60 given

1m| Gives the values 90, 45 and 45, in any order
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Three angles

Indicates No and gives a correct explanation

o
® 24493 4 61 = 178 but it should equal 180
for a straight line
a 24493 + 61 is 2 degrees too small for a
straight line
4434128, 50 they couldn't add to 180

‘Additional guidance

 Minimally acceptable explanation that
states or implies the angles should add to
180 or that they add to less than 150
Y
+ The angles don't make 180
+ They should add to 180
+ Too small by 2
+ The total ends in 8, but this should be 0
« It totals 178°, so it would be an obruse
angle

x Incomplete or incorrect explanation
@
+ 24493 + 61 = 178 which is not straight
« The angles add to 188 not 180
« The angles add to 178° so it will look
straight
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i & Queston

Isosceles triangle
Additional guidance
Givesx=74,y= 2 andz=46
and
gives a correct reason for each angle
“The most common correct reasons:
For angle x, refer to the isosceles triangle V' Minimally acceptable reason
«© @
» Itis an isosceles triangle, so it is equal to * Isosceles

angle ADB
® The triangle is isosceles 5o it is the same as
the 74° angle marked

For angle y,refer to angles in a riangle

@
= Angles in a riangle, 0 180 - 74 - 74
= 74474 = 148 and 180 - 148 because they
add up t0 180 in a riangle

For angle =, refer to angles in a triangle and
angles on a straight line or just angles in a
triangle o exterior angle of a triangle

%, Anglesin a wiangle, 18028 - 74 - 32

= Angles on a straigh line, 180 - 74 = 106,
angles in a triangle, 180 - 106 - 28

= Exterior angle of a triangle, 74 - 28

Gives two correct angles with a correct reason
for each

Givesall three correct angles, even if easons are

incorrect or omitted

x Incomplete reason without the correct
. s

Y
* Itis equal to angle ADB.
© ltis the same as the 74° angle marked

 Minimally acceptable reason
% aisiine

t Follow-through from their x
For angle y, accept 106 - their x
by a correct reason

x Incomplete reason without the correct
geometrical property identified

ey
180-74-74
* 74474 = 148 and 180 - 148

 Minimally acceptable reason
q
« Angles i triangle
« Angles on a straight line and angles

in a wriangle
+ Exterior angle of a triangle

+ Follow-through from their x and their y
For angle 2, accept 152 - theie x - their y
accompanied by 3 correct reason

x Incomplete reason without the correct
‘geometrical property identified

Y
*180-28-74-32
* 180 -74 = 106, 180 - 106 - 28

 For tm, follow-through
Accept follow-through for each angle as
detailed above
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Cormect response

Gives a three comect angles ie
x=%0
2
re20
o
2m Grves any two correct angies
Gives.x = 90 and y = 2, provided this vakve s
<%0and>0
o
m Gives any one comrect angle
Gives y = 2, provided this alue is < 90 and > 0

Angles in a triangle
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Refer o the sum of the angles in a trangle

g

= The angles are equal and add up 0 180, 50
180+ 3 =60

« Angles in a triange add up 1o 180, the three

angles are equal so 60 + 60 + 60 = 180

Refer 1o the sum of angles at a point
e

 You can see thatsix ofthe rangles it together

atapoint, 50360 + 6= 60

& |eo

Shapes on a grid

' Minimally acceptable explanation
g
o 18043
 60x3=180
* The angles are the same and add up.
t0180

X Incomplete explanation

The three angies add up o 180
Angles n  trangle add up o 180
The three angies areecual
@x3

s an equateal triangie

' Minimally acceptable explanation
eg
360+6
. 60x6=3%0
X Incomplete explanation

g
« Six of the angles add up 10 360
« Angles at a point add up 1o 360
. 0%

ceeeeg

1 For 1m, follow-through
Provided their bis obtuse, accept c as
25 theie b or 360~ theie b
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el Angle k
Mark Correct response Additional guidance

m 3
. Showsthe values 5095 o th vk 15
o
Shows a complete correct method with not more:
than one computational ertor
“
* 180-130-50,
18085 = 105 (oror,
180-50-105 = 25
(130485 -180
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‘gves a comect axplanation

9
* Angles in a riangle add up to 180°
150+10+ 10 = 170

m  indicatesNo
and
gves  comoct explanation
o

+ Atriangle can only be drawn if the two
shorter sides have a total langth longer

than the longest side

* 10am, Noem

150cm

Possible?
Additional guidance

+/ Minimally acceptable explanation
g
o 150410+ 104180
« The totalis ot 180
« They have to add to 180
* The total i too low by 10

X Incomplete explanation that mentions 170 but
does not state or imply the value 180

e
© 150410+ 10=170

« They addto 170 but it should be more

' Minimally acceptable explanation

L

* 10+ 10is less than 150

 The shorter sides will ot mest.

 The 10cm sides il not meet

 The 10cm sides are too short compared
with 150cm

 One of the sides needs to be longer/shorter
tobe able to join the triangle up

X Incomplete explanation
g
* The 10cm sides are too short
* The sides willnot meet
« 150cm line s too long
« 2sides of the triangle would not touch to
make a triangle
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Tile design

‘Additional guidance
Givesa cormectresponse +/ Minimally accoptable oxplanation
) o
* 3%0-90-270,270+2- 135 + Halfof 220
o 1354135490 - 30 .05
. 10-45
. o 1354452180
(ALY * Jof1e0
G
s

X Incomplete explanation
o
o tis halfway between 90" and 180"





image20.jpg
Gives three corect angles

)
o 5060, 700
o 47667
o 53573

Gives three angles that sum o 180° with two
differing by 20°
g

o 10°,30°, 140"
o 40,60, 80°

Gives three correct angles
e

. 107,75, 95"
o191

.

Gives three angles, including an obtuse angle, that
5um to 180" with the acute angles having a diflerence.
of20°

o
o 10°,30°, 140"
o s
. s 2

Triangle
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[Ter & Question

el Explaining why
Correct response ‘Additional guidance
1m| Indicates AD and CD are both 12, and justifies  Minimally acceptable justification

that triangle ACD is equilateral e

& + Sides are the same.
w The sides are the same length + They are equal
= All sides are 12
= AC=AD=CD x Incorrect justification

1

Indicates angle y is 60 and gives a correct
justification either as a calculation or as a
known fact

8
- 180+3
. 60x3=180
« That's how many degrees there are in one
angle in an equilateral triangle

Indicates angle x is 30 and gives a correct
justification

@
« Triangle ADB is a reflection of triangle
ABC so x s half y
« All angles in an equilateral triangle are 60°
‘The reflection shows half so it must be 30°
= Angles in ABC add up to 180, and
180 - 90 - 60 = 30

* The sides are even

! Reference to angles

Ignore, ie do not accept a justification based
on angles alone and do not penalise incorrect
information about angles given alongside a
correct response:

 Minimally acceptable justification
L]
©60x3

“ 60460 4 60
+ Allthe angles are the same

X Incomplete justification
€
+ Angles in a triangle add up to 180

t Incorrect notation
Ignore for both this mark and the next
eg, for angle y as 60, accept
“60°C

 Minimally acceptable justification

€

+ xis halfy

“ 2y
*60+2

 Itis half

* 180 - 90 - 60

* Follow through
Accept for angle x as their y + 2
provided it is accompanied by a correct
justification that cither does not use a value
for y or uses their value for y, and
provided their y is not 0, 90 or greater than
or equal to 180





image2.jpg
Explaining why

Correct response

‘Additional guidance

Indicates AD and CD are both 12, and justifies
that triangle ACD is equilateral

@
@ The sides are the same length
o Allsides are 12
« AC=AD=CD

ik P
Y T ap—
+ They are equal

X Incorrect justification
+ The sides are even

t Reference to angles
Ignore, e do not accept a justification based
on angles alone and do not penalise incorrect

information about angles given alongside a
correct response

Indicates angle y is 60 and gives a correct
justification cither as a calculation or 2s a
known fact

Y
- 18043
60x3=180
« That's how many degrees there are in one
angle in an equilateral triangle

/ Mimimall W
Y
“60x3

60460460
* All the angles are the same

x Incomplete justification

3

* Angles in a triangle add up to 180
t Incorrect notation

Ignore for both this mark and the next

eg. for angle y as 60, accept
«60°C

Indicates angle x is 30 and gives a correct
justification

« Angles in ABC add up to 180, and
180 - 90 - 60 = 30

7 Miniomalt tifoati
-«
« xishalfy
e ey
“ 6042
« s half
* 180 - 90 - 60

+ Follow through
Accept for angle x as their y + 2
provided it is accompanied by a correct
justification that either does not use a value
for y or uses their value for y, and
provided their y is not 0, 90 or greater than
or equal t0 180
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Angles

Indicates No and gives a correct explanation
that shows the angle sum is incorrect

30+ 60 + 100 = 190 but it should
sum to 180

‘They should add to 180 but these add
t0 190

30+ 60 + 100 is 10 degrees too big

Additional guidance

 Minimally acceptable explanation
Accept responses that state the angles
should not add to 190, or that the
angles should add to 180

@
* They add to 190 which is wrong
* Angles in a triangle add up to 180
* The angles don't make 180
« They should add to 180

X Incomplete or incorrect explanation
5
* The angles add to 190
* When you add up the angles you get
the wrong angle sum
* Angles add to 200 (error) not 180

eg, accept within a correct explanation
< 180°C

Shows or implies a correct method with not
more than one computational error
s
360 = (70 + 70 + 90)
360 - 230
270 + 90 = 200 (error), 360 — 200 = 160
70 470 = 140, 140 + 90 = 330 (error),
answer 30
180 - 50
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Angles

Correct response

‘Additional guidance

Im)

Indicates No and gives a corrct explanation
that shows the angle sum is incorrect

30,460+ 100 = 190 but it should
sum to 180

They should add to 180 but these 3dd
w190

30,460+ 100 is 10 degrees ton big

e rons ot o e s

responses that sate the a
Shoukd ot dd 10 190, of that the
angles should add to 180

£y
* They add 10 190 which is wrong
« Angles in @ riangle add up t0 180
* The angles don't make 180
« They should add to 180

X Incomplete or incorrect explanation
The angles add to 190
« When you add up the angles you get

the wrong angle sum
+ Angles add to 200 (error) not 180

t Incorrect wnits
Ignore.
g, accept within a correct explanation
Yisoc

Shows or implies a correct method with not
‘more than one computational error

360 — (70 + 70 + 90)
360 - 230

2x70'+ 90 = 200 (error), 360 — 200 = 160

70470 = 140, 140 + 90 = 330 (error),
answer 30
180 - 50
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Angles

Correct response

‘Additional guidance

Shows angle a as 50

Shows angle b as 130

Shows angle ¢ as 20

For the second mark, follow through
Accept follow through as 180 — their a,
provided their a < 90 and is not 54 to 56
inclusive

For the third mark, follow through
Accept follow through as 150 — their b or
their a — 30, provided this gives a positive
value
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Angles
Additional guidance

1m | Shows angle a as 50

1m | Shows angle 5 as 130 For the second mark, ollow through
Accept follow through as 180 — their a,
provided their a < 90 and is not 54 to 36
inclusive

m | Shows angle ¢ as 20 For the third mark, follow through
Accept follow through as 150 — heir b or
their a — 30, provided this gives a positive
value





